


o] ot 9] 2 MY f= 700 o] Tt
Zhd Hoh 12% =7} 8]

Z7Fstth, &) oA 4~

@® 250 B @ 450 3 ® 280 9

@ 423 ® 500 &



3. At

g2 SN Yol T 3 /04 59 19 A7 L, 5 744
=1
T

=
17 /W7 BARRIT, S 27

® 16 9 @ 1819 ® 2% @ 2279 ® 24



4. Aot Aol E FESh=H], & dolls Al 2km 2 Eal, 2 woll=
=

f
Al45 3km 2 A oA 3080] ARt FHolA stz o] Agl=?

® 0.6km @ 6km @ 0.5km

@ 5km ® 36km



sHlol= WshA Tt 15% o] AFES Wagd ot 19 44l
o7} & 50g ol & 200g = AAUEY FE7F UF ok 15% 9
A2EES WE7] fI6l Eolof 5t 59 F2?

50 100 150 200 250

®§g ®?g ®?g @?g ©Tg



